Mahesh Public School

Class 7
Integers
Worksheet - 5

Questions

[namagic square cach row, column and diagonal have the same sum. Check which

7 of the following is amagic square,

) Venfya-(-b)=a+bforthe following values of aand b,
() a=21,h=18 () a=118b=125
() a=75b=84 (V) a=28,b=1]

) Usethesignof >, <or= inthe box to make the statements true.

@EHe-d ] -4

) -3+7-09 [ ] 15-8+(-9

) B3-41+11 ] B-41-11

(@) 39+(-24-05) [ ] 36+(-52)-(-30
© 281479451 [] -39+159+8]
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Answers

@ /\nswer. It an be observed that in square (i), every row and column add p to give 0. However,
~ thesum of one of its diagonals is not 0.

As-4-1=-67,

Therefore, (i) is not a magic square.

Similarly, in square (ii), each row, column, and diagonal add up to give <9, Therefore,

(1) 1§ & magic square,

@ Answer(a=21,b=18

T a-(-b)=21-(-18)=21+18=39
a+h=21+18=39
fa-(-b)=a+b=39
(ii)a=118,b=125
a-(-b)= 118~ (-125)= 118 + 125 = 243
a+h=118+125=243
a=(-b)=a+b=243
(iii)a =75, b = 84
a-(-b)=75-(-84)=75+84 =159
a+b=75+84=159
Za-(-b)=a+b=159
(iv)a=28,b=11
a-(-b)=28-(-11)=28+11=39
a+h=28+11=39
Ha-(-b)=a+b=39
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Answer,
(a)

(~8)+(~4)L1(-8)-(~4)
=-8-4 []-8+4
==]2<~4

(b)
(<3)4+7-(19) L ]15-84(-9)
=-3+7-19 []15-8-9
==]5<=2

(c)

23-41+11[]23-41-11
==1>-=29

(d)

39.4(-24)-(15) ] 36+ (~52)~(~36)
= 39-24-15 [ ]36-52436
==0< 20

(e)

231479+ 51 ]-399+159+ 81
= ~=101>-159
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